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1. Multiple choice (20%, 4% per question)

(1) When using the indirect method to calculate and report net cash provided or used
by operating activilies, which of the following is subtracted from net income?
(A) Decrease in income taxes payable. (B) Depreciation expense. (C)Amortization
of intangible assets. (D) Bad debts expense. (E) Decrease in merchandise inventory.

(2) Use the following information about the current year's operations of a company to
calculale the cash paid for merchandise.

Costof good sold...........c.covevvieriiiiieen $226,000
Merchandise inventory, January | .............. 54,800
Merchandise inventory, December 31 ........ 57,400
Accounts payable, January ..., 54,400
Accounts payable, December 31 ............... 59,800

(A) $218,000. (B) $223,200  (C) $220,000. (D) $228,800. (E) $234,000.

(3) A company that has operated with a 30% average gross profit ratio for a number of
years had $100,000 in sales during the first quarler of this year. 1f it began
the quarter with $18,000 of inventory at cost and purchased $72,000 of
inventory during the quarter, its estimated ending inventory by the gross profit

method is:

(A) $30,000. (B)$21,000. (C)$20,000. () $18,000. (B)  $27,000.

(4) .A company purchased property for a building site.  The costs associated with the
properly were:

Purchase price...........coccocvivniniiinnn, $175,000
Real estale COMMISSIONS .......coocvovieviininnn.. 15,000
Legal fees. ..o 800
Fixpenses of clearing the land ................... 2,000
Expenses to remove old building................ [,000

What portion of these costs should be allocated to the cost of the land and
what portion should be allocated to the cost of the new building?

(A) $175,800 to Land; $18,800 to Building. (B) $190,000 to Land; $3,800 to
Building.  (C) $190,800 to Land; $1,000 to Building. (D) $192,800 to Land,;
$0 to Building. (E) $193,800 to Land; $0 to Building.

(5) A company plans Lo decrease a $200 pelly cash fund to $75. The current balance in
the account includes $45 petly cash payment in receipts and $165 in currency.
The entry to eliminate the fund will include a:

(A) Debit to Cash Short and Over for $10. (B) Debit to Cash for $90. ©
Debit to Miscellaneous Expenses for $35. (1) Credit to Petty Cash for $165.
() Credit to Cash flor $90.
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2. Selecled current year company information foilows: P. A
NELINCOME ..o $325,000
Netlsales. ..o 4,700,000
Total liabilities, beginning-year .................. 550,000
Total ltabilities, end-of-year....................... 530,000
Total stockholders' equily, beginning-year.. 760,000
Tolal stockholders' equity, end-of-year....... 745,000

Calculate the following company ratios: (24%)
(a) Profit margin. (b) Total asset turnover. (c) Return on total assets. (d) Return on

common stockholders' equity (assume the company has no preferred stock).

3. On April 1, 2005, a company disposed of equipment for $14,200 cash that had cost
$35,000 on January 1, 2001. The equipment had a salvage value of $5,000,
and a useful life 10 years. The double-declining-balance depreciation method
was used.  On December 31, 2004, accumulated depreciation was $20,664.
Prepare a journal entry to record depreciation for 2005 up to the date of
disposal of the equipment, and prepare a journal eniry to record the disposal of

the equipment. (12%)

4. A company had the following items and amounts in its unadjusted trial balance as
of December 31 of the current year:
Debit Credit

Cash SAIES ....oocviviie e $ 88,000
Credit SAlES ....coivvviiiieccc e 275,000
Accounts receivable........ccovviver e $96,000

Allowance for doubtful accounts...........cccovrvcvriccniivincnne 1,000

. Prepare the adjusting entry to estimate bad debts under cach of the following
separate situations. (12%)

1. Bad debts are estimated to be 2.5% of credit sales.

2. An aging analysis estimates that 8% of the outstanding accounts receivable will be

uncollectible.
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5. A company purchased a special purpose machine on August { of the past year, and

it was installed and ready to run on January 1 of this year. The following

costs were incurred in the purchase and installation of the machine.

Invoice price

....................................................................... $1,200,000
Freight COStS. ..o 6,000
INStallation COSLS ......ocvvvriverriierirrenreiesese e 04,000
Electrical and power connections............ccconievcnnicennienne 32,000
Repairs to correct damage incurred during uncrating......... 12,000
Costs to adjust machine to appropriate specifications........ 56,000
Spare parts for RUre use........ocooccevieeviinicieree e 108,000
SAlES LAX .ottt 70,500
Fines incurred during transport of machine........................ 400
Cost of special foundation required for machine installation 28,500

Determine the total cost of the machine. (10%)
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& % $260,000

i Rikg 10,000

W ARA 174,600

i EEMH 242,900

8 Adndr WA A 72,216

SAUFREEMR 99,900
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